0.3

——C;H,
C,H,Of

Manual

——Signal
Total fit

I Isotopes

Residual

—— C:;H;0]
C6H12Oi|—
C,H,0;

|| —CH}

—— C;Hj,
CHuNT
C;0f

|| — C4H6021\IIL
C5Hy O Ny

N )
) N
3
~ ~ .
> .
y >,
0

Algorithm

+
unknown

C,H,0/

A
Xy N Y
. >
> .,
& 2,
Cdm 2,

e}

66.05 66.1

136.95

137

137.05 137.1 137.15

Mass to charge (Th)

C;H0]

(361‘:[12();r

C,H, O;
CsH;
CrHj;
unknown

137.2 136.95 137

99.9 100
|
—CoHy;
CsHyO5
C9H1301 }I\ [
WV

66.05 66.1

e

137.05 137.1 137.15 137.2

Mass to charge (Th)

(d)

1-0.02

L L 1
> o o
SN (@)} oo

Residual

1-0.2

-0.4

10.02

Residual

Residual

1-0.02

-0.04



